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L=L,+LT+LT*+LT°+LT" T = time in centuries from Y2000
L, = Z Acos(B+ CT) tables of coeff = 100's, 1000's?
Similar for L, L,, ... then for B - then R

Apply some correction terms (eccentrities, Relativity, ete.) ...

Then go on to the next planet (or time) ...
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World Longitudes and Latitudes (cylindrical projection)
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Distance from Moon to Sun (zoomed)
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Distance from Moon to Sun (no zoom)
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Curve m - Cross product:
‘A = Ax B =
1 to Earth Sun plane!
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Curve out - Cross product:
DzAszﬂCk

Points below plane!




Cross Product of Moon Vectors
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Cross Product of Moon Vectors - 30 days
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http://qbx6.1tu.edu/s schneider/astro/index.shtml




